50

a
o

> 500r : = = 50[
ral : § E
o - : A 0 N

£ 400 I X 40 LR SRICE SRR ST A b
2 ¢ : v g8
O LU e S S R A SRR S | s
o F 1 30 S 30
Vv [ : : : : : . : (] B
200 ++keeep e e e E |
L T 20 S 2oF
[ + A L
100wk eeee b e e e | AR <
L : o] :
N 1 N1 10 Vo10f

: . 0 Y POV TUOE POVOR VO POUOR OO PV T

Ratio
Ratio

.

1

1
T

20 S15 =10 -5 0 5 10 15 20 0¥ =I5 =10 50 5 10 15 20 0% =15 =10 5 1615 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)
DQM_TT_MKRFT-DQM_origimal -
_— /data’Z/I(_?_glann|/_standarone-May24/CMSSW_13_2_X_2023-06-05-1100/5rc/DQM_TT_mkFlt-DQM_mod_upda edmod-127
—— DOM_TT_ mkFit-DQM _ update-mod127

0

0

> : ——— = O = o
ot : 5§ ¢ E
o i ¥ : A o : : : : : : 0 i
g - L @ I
[SRRESLY A | f BRI A K B 0 R L EEE e SR EELLALLERR SRR B N e R R S
R : R S S S R S = - o
= L : v L : : : : : : : ) [ : :
C : r P N > r e
S ¥ : C A "'"‘."’""w++ s I #"* ol
© 100+~ Pede 20 PSR R - S —20f- e A -
v i T @ [ :

_ - E I ;

r s L :
] S R SRt SR
> | :

v L ROt RPPPE KNI
) P PR I FUUTR I PO P T

Ratio

iy
TTTT T
i
v
.

B0 =15 -10 -5 0 5 10 15 20 05 10 15 20 B9 =15 =10 =5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0.8t H L L H H H 0.95/

E OF éﬁ.OOO_ gSOG: :
= | = 2 F
L - A - LT L F
—~ r R R C P <] C N
E-100f 5 800 g F
e v Q 300+ wi ke [
5o RS SRt Sl s St 8 F oo
o-200p i D200+ -we oo
C A A 200K h E
U L1 ) RN U I S 100F
B SRR AR A I T N
r B . . . . . . . N o
C N ° O
L R S AT A Yok
C L T —-100
oo : O~ -5 - e eyl F
R SUURTUUR 1 000 AR O OO PN e A AE O FEN
g 25—.— ----- p . _\ g £ : :r g 15%— .....
o e T ' 3 : ' 23 :
S | N I R (A (| EE TR E R e T
) S ; L MR : ) S I : : : : : Py .. : ;
-20 -15 -10 -5 10 15 20 -20 -15-10 -5 0 5 10 15 20 -20 -15 -10 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


